
Lattice Multiplication (C)
Use lattice multiplication to find each product.
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22163×3737 = 82,823,131

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

4 0 5 5 0

8

1

1

0

40550×8110 = 328,860,500
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64206×1068 = 68,572,008
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34466×3460 = 119,252,360

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

�
�
�

5 4 0 7 1

1

5

3

2

54071×1532 = 82,836,772
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70359×7996 = 562,590,564
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